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100kN/m* % 82 B R 15 100kN/m*%#8% 5 X 13
ooolin| LE% |pomx| LER |poomx| 5% |p309% rEw ooomx| 5% |o3omx| % |osomk| 5% |osemx| 15%
DHED =X OLD NE= DHD NEE DLD NEE DLD NEE DHD NEE DHED NEE DHD [OF=F]
(kN/md) (m (kN/m?) (m (KN/m?) (m (kN/md) (m (kN/m?) (m) (kN/m?) (m (kN/md) (m (kN/m?) (m
1~2 143.01 1.00 100.00 1.00 - - 15.92 2.97
2~3 132.27 1.00 100.00 1.00 - - 14.42 2.69
3~14 132.27 1.00 100.00 1.00 - - 11.72 2.19
4 ~5 130.12 1.00 100.00 1.00 - - 13.35 2.50
5~6 128.80 1.00 100.00 1.00 - - 13.47 2.52
6 ~7 135.22 1.00 100.00 1.00 - - 13.47 2.52
7~8 135.22 1.00 100.00 1.00 - - 13.34 2.49
8~9 133.13 1.00 100.00 1.00 - - 13.34 2.49
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